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P(n) = 1,2,6,20, 70, 252, -

A | A 1
k n
|
Poy = (=012, )
nl?
P(n) 2 E(n)
A ' APM) Q(n) = 1,3,10, 35,126,
2n+1 2n+1
k n+1
_ (@n+1)! _
Q(n) = (n+ D] (n=0,1,2,---)
1.2
@n+1)! 2n!
(n+ 1n! n!2
1l
1
1 1
1 2 1
1 3 3
1 4 6 4
1 5 10 10
1 6 15 20 15
1 7 21 35 35
1 8 28 56 70 56
1 9 36 84 126 126
1 10 45 120 210 252 210
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2
2.1
P(n) Q) 2 E(n)

n! P

ino(N,P,0):-N<P,I.
ino(N,P,E):-N1 is N//P,
ino(N1,P,E1),E is N1 + E1.
(2n)!

A nl2

bino(N,E):-N2 is 2*N,
ino(N2,2,E2),ino(N,2,E1),E is E2 - 2*El.

(2n + 1)!

B " (n+ Dind

cino(N,E):-N2 is 2*N+1,
ino(N2,2,E2),ino(N,2,E1),E is E2 - (E1+1)-El.

(2n)!
-A N 0
bfor(N):-for(1=<N,Z2),
bino(Z,E),write(E),nl,fail.
bfor(N).
(2n +1)!
B N (n+ Dln!

cfor(N):-for(1=<N,2),
cino(Z,E),write(E),nl,fail.
cfor(N).
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nl2
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4 1:E(n)

1 n E(®M 2 n KN
4.1 n E(n)
2 E(n) n
2 EMm) | n
0 0
1 1,2,4,8,16,32,- - -
2 3,5,6,9,10,12,17,18,20,24,33,34,36,40,48,- - -
3 7,11,13,14,19,21,22,25,26,28,35,37,38,41,42,44,49,50,- - -
4 15,23,27,29,30,39,43,45,46,- - -
5 31,47, --
2 1 n 1,2,4,8,16,32,- - -
n=2(=0,12,--+)
2 2 n (3,5,6,9,10,12,17,18,20,24,- - -) 3 5
15
n 2 1
3=20+2"
5=20+2°
6 =2 + 22
4.2
2 0 n=0
2 1 n =2 (0<e)
2 2 n =21 +2°2 (g1 < g3)
2 3 n =21 + 22 + 23 (g1 < gp < €3)
2 4 n =21+ 22 + 28 + 2% (g1 <gp<ez<gy) - 2

n=250 422+ ...+ 2°m (g9 < gp < - < Epy)



4.3

4.3.1 Legendre
n!
Legendre
4.3.2 ¢,(p°)
ep(p°) (»
e=0
g
ep(P?) =p° -1

p ep(n)

:1+p+...+p5_1
_1-p°

T 1-2

_ps—



2!
4.3.3 n—?z 2 E(n)

e2(n) = e(n)

2n!

E(n) = e(2n) — 2e(n)
=n+e(n) —e(n)

=n—e(n)



4.4

45 n=0
EW0)=0
46 n=2°
e=0
E(2°) = e(2') — 2¢(2°)
=20 —¢(2%
=1
€

E(2°) = e(2°1) — 2¢(29)

=2° — ¢(2%)
=25_25—1_e(25—1)
=221 ... —1—¢e()
1-2¢
=2¢ _ —
1-2 0
=1

4.7 n =21+ 2%
n=20+2%2 (0 < g3)
E(2° + 2°2) = 20 + 252 — (20 + 2°2)

. M
1 1
=1+2%2 - Z+2271 o 4227t
2 © 2

T

=1+2% _ 252—1 _ 6(252_1)

=1+2%2 2271 _..._1_¢()
122
=14+2%2____
1-2
=2



n=21+2%2 (0 <eg <ep)
E(2°t + 2¢2)

= 251 + 2% — (27 + 2°2)
= €1 4 92 _ (251—1 + 252—1) _ 6(251—1 + 252—1)

= Q€1 4 92 _ 25171 _ 25271 _ 6(25171 + 25271)

= 2f1 4 92 _ 251—1 _ 252—1 L 20 _pe2—e1 _ 6(20 + 252—51)
= €1 4 92 _ (20 + .+ 251—1) _ (262—51—1 + .o+ 262—1) _ 6(262—81—1)
1-— 2= 1—2atl
=921 492 _ —  — ep—e1—1ly= " & N  (og2—e1—1
251 42 — 2 (=) - 1)
— 281 + 262 + 1 _ 2&‘1 + 252—61—1 _ 262 _ 282—51—1 + 1
=2
n=2i+2§(0§51<€2 E=2
471 n=25+25+25
n=2{+25+25 (0<e1 <ex<ez) E(m) =3
n=21+25+---+2° 0<e1<e2<---<ep) EMm)=m



5 2 E(n)

51 n F()
2 F(n) n
n 2 Q(’I’L) = 2n+lOn+l 2 F(n)
2 F(n) | n

0,1,3,7,15,31,- - -

2,4,5,8,9,11,16,18,19,23,32,33,35,39,47, - - -

6,10,12,13,18,20,21,24,25,27,34,36,37,40,41,43,48,- - -

14,22,26,28,29,38,42,44,45,. - -

AlwW|N|L|O

30,46, - -

F(n) = e(n +1) — e(n + 1) — e(n)
=ln+ 1+ elln + 1) — en + 1) — e(n)
=n—e(n+1)
= _l+n+1l-e(n+1)

=E(n+1) -1

F(n)=0 E(n+1)=1

n+1=2°
n=2°—-1
(2n + 1)!
-— 2 F
(n+ Dinl ()
0 n=2_-1(0<c¢e)
1 n=21+22_-1(0<e <ey)
2 n=22+22+23_1(0<¢e <ep<ez)
3 n=2%1+2%24+2%+2% _1(0<¢e; <ep <e3<éeq)
m n=204+...+2°" -1 (0<e1 <+ <ép)
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6.1 Q(n)

Q)

n+2
n+2

>

Dn

2)n

7
7.1
P(n)  Q(n)

7.2

R(n)
A
R(n) = 1,4,15,56,216, - -- 2 ZnI: 2
_(@n+2) ,
R(n) = m (n=0,1,2,---)

G(n) =e(2n+2) —e(n+2) —e(n)
=n+1)+e(n+1)—e(n+2)—e(n)

e(n+1)=e(n+2)
G(n)=n+1-—e(n) G(n)=E(Mm)+1
e(n+1)=e(n)

Gn)=n+l—-en+2)Gn)=EMn+2)-1

R(n)
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